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This Question Paper consists 24 pages. Of this 30 questions including 1 figures for New syllabus and 30 questions for Old syllabus.
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General Instructions :

1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
answer-book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

5 Making any identification mark in the answer-book or writing roll number anywhere other
than the specified places will lead to disqualification of the candidate.

6  Write your Question Paper code No. 46/OS/1-A on the answer-book.

7 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugh, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box
provided in the answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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) ( IMPORTANT INSTRUCTIONS } .

1.  This Question Paper Booklet contains two Question Papers - one based on revised
study material marked as “New Syllabus” and the other based on pre-revised study
material marked as “Old Syllabus”.

2. New Syllabus is compulsory for those who have registered for 2012-13
(Block-I) admission. (Those who are appearing in April 2013 wunder
“New Syllabus”.)

3. Old Syllabus is compulsory for those who had registered before 2012-13
(Block- I) admission.

4.  Answer only one Question Paper from given two Question papers.

5.  Learners are not allowed to mix questions from the two given Question Papers.

: ( weamt o ) ,

1. 39 U gRae W & WeAus € ¢ Uw HeNitW Hemdw wwl woendna & fw
X A W Sifthd 9T gEU €elled § UE oiemdd annll Uy onend § o™
W QA U e § |

2. O U S qlenda & fwu etvadd § R Amies 2012-13 (st 1) o
T ¥ | (S el@ 2013 H AU weRRH & ofda qden ¥ o7 W w ¥ )

3. YOI UERRE 39 UeeEl % fau sitEn ¢ feer Amies 2012-13 (@w-1) &
UEW TAM ¥ |

4. wOedl e TRy % TR kAW UH YA Hl & Tlam & |
5. qlemedl @ & U % WA bl M@H IAT & Bl RN Gl § |
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SCIENCE AND TECHNOLOGY NEW
(e )
(212)

New Syllabus / a1 9SIRH

Time : 2% Hours] [Maximum Marks : 85

Y .
g 21 e [quifes : 85
Note : (1) All questions are compulsory.

(2) Marks are given against each question.
Rt 2 (1) |M yew fEE ¥
(2) UAF YT & ¥iF SHe 9N fw ™ ¥ )

1 1000 micrometre can also be written as : 1
(A) 103 m (B) 10°m
(C) 10%m (D) 103 m

1000 ATEhMEY & T ferar i dehdl @
(A) 1073 0 B) 106 W@

(C) 109 W D) 103 #
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2 Which of the following is mot an SI unit ? 1
(A) Metre (B) Litre
(C) Ampere (D) Kelvin

f=fRad & w91 SI 9 & & 7

(A) ez (B) ferex
(C) uhmR (D) e
3 Identify which of the following reactions is a displacement reaction ? 1

(A) C—I—O2 —>CO2

(B) CaCO3 — CaO —I—CO2

(®) Zn—l—CuSO4 — Zn SO4 +Cu

(D) AgNO, +HCI — AgCl+ HNO,
wgaie f6 FrefaRaa sifafrene o @1 sifwlran fowemus sifafopan %7

(A) C—I—O2 —>CO2

(B) CaCO3 — CaO —I—CO2

(®) Zn—l—CuSO4 — Zn SO4 +Cu

(D) AgNO, +HCI — AgCl+ HNO,
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4 Which of the following is not an example of corrosion ? 1
(A) Rusting of iron
(B) Wearing and tearing of moving machine parts
(C) Tarnishing of silver
(D) Formation of green coating on copper
frrafafad & @ daror & e @& T 7
(A) @& T ST T
(B) Tfastia @t & gwit & R
(C) T &1 BT TGS

(D) W& T TH U U &1 1

5 A body weighs 10N in air and 7N in water. The buoyant force exerted by 1

water on the body is :
(A) 10N (B) 7N
(C) 3N (D) 17N

frel e @1 ag & A 10N iR 5@ & 7N 2| fifs X 91 g0 & s e

ERGIEEICT
(A) 10N B) N
(C) 3N (D) 17N
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6 The figure given along side shows displacement versus position graph of a wave 1

for a period of 2s the wave is travelling with a velocity :

y

WAAN.
Tt

(A) 1mms-! (B) 7ms~!

(=]

(C) 7mms-! (D) 3.5ms!

= Rt A fRdl T @ 2s gEEEiy @ faemae Rufy umw getEm wEm #)
I AT H AT T

y
N

(L
A

(A) 1mms-! (B) 7ms~!

(C) 7mms-! (D) 3.5ms!
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7 Gene combinations suggest that if father's gene is IA and mother's gene 1
is IB then their offsprings can have blood group :

(A) A or O only (B) A or B only
(C) A, B or AB only (D) AB only

SN AN T8 Gohd a1 & b afe fyar &1 S IA ¥ ofik Hran @1 IB ®
A GaAld H ERR TIE B GHA ¢

(A) ®ad A A O (B) ®ad A I B
(C) %aw@ A, B a1 AB (D) %aw AB
8 A given quantity of water will have minimum volume at - 1
(A) 0°C (B) 4°C
(C) 8°C (D) 12°C

a0 W 9@ & U U geMm @ oEad JAdaH B 98 7 -

(A) 0°C (B) 4°C
(C) 8°C (D) 12°C
9 Which of the following is an inorganic compound ? 1
(A) Sugar (B) Common salt
(C) Kerosene (D) Alcohol

f=fafaa & w1 9Oife seENE € 7
(A) <= (B) €URY &

(C) HURE (D) UehlEd
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10  What are derived units ? Find the derived SI unit of density from fundamental 2

ST units.

A~ AHE T 7 T B FA SI A gW SI Al § T i)

11  How will you dilute concentrated sulphuric acid ? What will be the affect of 2

dilution on it pH ?

T TR TR Dl 3T 9 Hhd HLT 7 TIH &1 36h pH I T Y1 8107 7

12 Write systematic steps to seperate out the components of a mixture of iron 2

granules, common salt and chalk powder.

@E % TE, YR T9% X dih USST & WA & Al |l JUFRH
fafy & wam axo fafaw)

13  An element 'X' has seven electrons in its outer most orbit and another element — 2
"Y' has four electrons in its outer most orbit. If they combine to form
a compound, what type of bond will be formed between them and why ?

Write the formula of the compound formed by the combination of X' and 'Y".

TH q@ X @ SEeH we H 9 SR §EY 9@ 'Y @ Sead &E o
4 3ag ¥ 3T da b A ¥ 3% O R dXe % omey g @
AR H? X AR Y & WAeH ¥ I Aife w1 gA faRag)
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14 Heavy army tanks are made to move on wide continuous chain belts, why ? 2

TR ®IEN <l @ el 9dd 99 U X 9@d hl OaRdT % 91y ST Wl E,
Co 1

15 Describe clark's method for removal of temporary hardness of water. Write 2
chemical equation involved.

ST I ST WO Bl L BT Sl FATh (14 Bl A0 B | Gag THE
e fafa)

16 Can CuSO, solution be stored for a long time in an iron bucket ? Explain. 2

T HUL Gehe & [A@dT B TN THIT b @R bl Sl B Y@ S Gl & 7
TS BN

17  Calculate the number of molecules in 45g of water. 4

(Molecular mass of oxygen is 32u and that of hydrogen is 2u)
45 I S@ W SU[SH @ T w1 AT B |

(AT B/ AYAR 320 3R BEESH &1 AYAR 2u &)

18 Citing example state four merits of mendeleev's classification of elements. 4

TEAEYT <d FY ARA® W U MU @l % aiiendor & aR Giedl @ 3w S|
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19 A body of mass 2 kg. is moving with a uniform speed of 30ms~!. A force of 4
6N is applied against the direction of motion. How much distance with the body

move in 5s after that ?

2 o g™ &1 Ush T 30ms! & Tm W 9T ¥ Taue ¥ 39 UK 6N @
THh g M w e e § @ S ¥ 3Eeh ) o S5s H g feae gl
qg w/Om 7

20 What is (i) thermostat (i1) bimetallic strip. 4

With the help of a simple circuit diagram explain the working of a bimetallic

strip as a thermostate :
(i) dwamdn, (i) fgenfes wieew @ R ¥

T X TRAY AW ol GEE ¥ GUAE o weh fgenfes wicedn dmramd
W AT B B HRA S 7

21 Image of same size is formed when an object is placed at 40cm in front of 4
a concave mirror. Draw a labelled ray diagram to show image formation
when the object is placed at a distance of 30cm from the same mirror.

Describe the characteristics of the image formed.

SE @ 9 TF SEdd U %k AN 399 40cm H U W @ SEI ©
A IHH GIM AHR B TG I7a1 &1 T AHIRT 60T AT g 3H
T % G 30cm & 3N W W fam @ ufafem s= awizw wiofes
&% sifuwael &1 auiE SR
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22 Draw a labelled diagram of a neuron. 4

T AT BT & A6 o IRy

23 In the light of Darwin's theory explain the terms : Adaptations and inheritence. 4

Give one example of each.

ST % frer & =9 9 ogged Ud oAl Tel ®l AT S|
Y& @1 Uk Udh SaEI0 aINd |

24 (a) Define the following terms : 4

(i) Metallurgy
(i) Calcination
(iii) Thermite process

(b) How are highly reactive metals like Na, k, Mg extracted ?

(a) T=fRag wal @ oftwmn faRag -
() erg
(ii) T
(iii) @@z 9wy

(b) oty Tpenshe argell S 6 Na, &, Mg &1 %9 T REAT S Wehdl & 7
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25 A person is having cough, chest pain and low fever for more than 15 days. 4

He is losing weight and appetite also.

(1) Name the disease the person is suffering from.

(i) Is the disease communicable ?

(i) Write the name of causative organism for this disease ?

(iv) What steps will you take if the desease is confirmed ?

frdl =aferd &1 15 fim 9 oiftes v & @rdl, @9 § &€ ofX swm
AN T 386 Y@ oK oo fl &7 T S W 3|

() 3@ =l & S AT T SHHT W SARU
(i) @ W& TH O AT L)
(iii) 39 T & ®R& g & M f@Rad |

(iv) W1 @ gRe & W T T w® wEH T ?

26 Explain how :(i) Penguins and (ii) Camels have adapted to survive in their 4

environments ?

TeAEe 6 () IR dur (i) S oo wafeRw H Sid 9 w6 W few
THR SAJgiad g4 27

27 What is an earthquake ? How is its severity measured ? Mention two 4

precautions you will keep during an earth quake.

THT FIT BT 8 ¢ A QST DI HH AW ST & 7 THI & FEgiE  qsy S
&Y YT b SR T |
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28 Describe Rutherfords model of atom. What were the short comings of this 6

model ? How were these addressed by Bohr in his model of atom ?

B & TN ASA & AU HIQ| 36 disd | R/ HhEl Ol 7
IX A AU Wisd W 3T HEEl b fR¥ UER g e ?

29 A bulb is rated at 4W, 10V. 6

(a) Find the resistance of the bulb and safe current for its maximum glow.
(b) How can you run it at 20V safely ?

(c) Find the power consumed when two such bulbs are connected to a

5V supply in
(1) Series (i) Parallel
THh go9 X 4W, 10V sifea ¥

() 39 99 % qg B Uy oY sffusan griva At & foo sad yarfa
& G Al URT BT AN S it

(b) 20 AE & GId & WY 3@ T@ B UAT START T Y BT 7
(c) 39 YR & 3 ¥ AR SV °d & 4y

(i) SromeRA, (i) TIIX A H Se W a1 fepae feae oty Sugem s

30 What is meant by genetic disorder ? Name three genetic diseases. Describe 6

the cause of each disease.

Sty TR & w1 awd €7 A9 ATgdlTs W b AW faRed ) ude
% HIUT B AU DI |
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SCIENCE AND TECHNOLOGY OLD
(e w@ WrEhfe)
(212)

Old Syllabus / JUAT 9T&rRA

Time : 2% Hours] [Maximum Marks : 85

Y .
g 21 e [quifes : 85
Note : (1) All questions are compulsory.

(2) Marks are given against each question.
Rt 2 (1) |M yew fEE ¥
(2) UAF YT & ¥iF SHe 9N fw ™ ¥ )

1 Which of the following is the property of electromagnetic waves ? 1
(A) Transverse waves
(B) Require material medium
(C) Generated due to mechanical vibration of particles of the medium
(D) Velocity, is 330ms!.
i & @ ®F-ar o faga g oo & ¥ P
(A) g T
(B) «ifae Hremw 1 Saguwhal &
(C) wreAq & HUN & G &I o Il §
(D) a7 330ms~! ¥
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2 The glass that is used for making lenses and spectacles is : 1
(A) Borosilicate Glass (B) Crooke's Glass
(C) Hard glass (D) Soda-lime glass
| ok TweAl § SuAm fREw W oA @i ® o
(A) IRfafane @ia (B) F&H &4
(C) @R Hid (D) HeT WA ®iA

3 A force of 125 N acts on a body of weight 25 N. The acceleration produced 1
in the body is (g = 10ms—2)

(A) 0.5 ms™ (B) 5 ms3
(C) 50 ms! (D) 500 ms2

25 N 9 & feel a%g WX 125 N &1 S0 @0 el €1 9% § SO @Xor 8

(g = 10ms2)
(A) 0.5 ms™ (B) 5 ms3
(C) 50 ms! (D) 500 ms2
4 Which of the following is a heterogeneous mixture ? 1
(A) Tap water (B) Air
(C) Muddy water (D) Brass

frfafad o ¥ @ faumrh fiysor €72
(A) & = (B) 9
(C) WAl S| (D) Waw
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5 Voice of a woman is usually of higher pitch than that of a man. It means 1
that as compared to a man her voice has a :

(A) longer wavelength (B) higher time period
(C) higher frequency (D) higher wave-velocity

Sl B A B ATRE U JEY AN & aRd ° HUE B o) 3ah 7Y §
6 JEY @ omel IS AT Bl § °

(A) oifys @l qoTes @l (B) oifyer STEddtd ol
(C) =ity amgra @l (D) eifys AT @

6 Which one among the following is the source of the vitamin which helps in 1
clotting of blood and whose deficiency results in excessive bleeding from wounds ?

(A) Green Vegetables (B) Butter
(C) Fish (D) Milk

f=falad & 9 a1 59 fefim o wa T S @ & ®hed ¥ GEEdl &idl ©
AR o & 9 A ¥ fie Yo q'dn ® 7

(A) TU Wit (B) weraEd
(C) w& (D) 34
7 If the mass of a body is 100 ng, it is the same as : 1
(A) 107% (B) 107%g
(€ 107g (D) 107'lg

gfe frdl /g ®1 F=@9W 100 ng ¥, @ ¥E Saw € EW N ¥ o
(A) 107% (B) 107%g

(©) 107g (D) 107llg
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8 The empirical formula of an organic compound is CH,. Its molecular mass is 56. 1

The molecular formula of the compound is : [At. mass : C = 12.0u, H = 1.0u]
(A) C4Hg (B) CH,
(C) C,H, (D) C;Hg

el wte At &1 gEgurl 9 CH, ®1 @& o] F=ME 56 ¥
qiftres a1 afveaes g & (TR &9 : C = 12.0u, H = 1.0u)

(A) C,Hg (B) CH,
©) CyH,y (D) C;Hg
9 A train took 3h 30min to travel between two cities with an average speed of 1

80 km/h. The distance between the two cities is :
(A) 240 km (B) 280 km

(C) 264 km (D) 272 km

80 km/h & fEd O@ ¥ Uk <F W &1 9% & &/ dl 960 & § 3 h 30 min
Q| T T H I W QU T

(A) 240 km (B) 280 km

(C) 264 km (D) 272 km
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10  State any two characteristics properties of ionic compounds. 2

st Al & feRl &1 eferates quEsl @ SdEd|

11 How does 'DNA finger printing' help in identification of criminals ? 2

Al W UEEN e § SLuAu e fifEr fem wer gewmar wkar ®7

12 Write the SI unit (in terms of basic units) of work and also its special name 2

and symbol.

& ®1 SI AEG (Y A6 6 ual H) fhad ofit Iue fafite m qun wdis
ot ferfRad

13  Write the relations between : 2

(a) initial velocity, u, final velocity v, acceleration, a and the time taken by

a body, 7.

(b) initial velocity, u, final velocity v, acceleration a and the distance

travelled by a body, s.

frafafaa & <m0 @9y fafed -
() URRWEH I, u, ARH AW, v, AW g, AR aFF U faam @ g, o)

(b) URRWH A, o, ATH I, v, A g, AR TG T T B T A, s |

46/05/1—212 A | 19 [NRRERHAREH IR0 - ¢ Contd...



14 Where would the element having the following properties be located in a group 2
of the modern periodic table at the top or at the bottom, in each case ?

(1) The least ionization energy

(i) The smallest ionic radius

(iii) The least metallic character

(iv) The least electron affinity

g omad TR ¥ Prefiiad TRl aW o PR wE ¥ we TR oW wed
g, T Huar A ?

() T ST S

(i) T B AtE B

(iii) gFaw wrfcae  SifHweT

(iv) ~AaH IAFE TAT

15 A stone is thrown vertically upwards and after sometime it comes back and 2
falls on ground. Draw the speed - time graph of its upward and downward
journey assuming that it took time 't' during its upward journey.

TH T Bl HEEl G § S @ iR B a1 § SR PE N ueE| 9%
QY AHT T X ARAT T EH S B SR A W X @ amn % Wy
IE-—GF U6 N B | A9 Ay 6 389 S & iR 9= & o
7 g feram)

16 What was the effect of : 2
(1) Kinetic energy of colliding planetesimals and

(i) Energy released due to disintegration of radioactive elements on primitive Earth ?
Name and describe the process that occured as a result of it.

() WS % THIH dl IS G A

(i) YAt @l & fames ¥ SO 3% Fe @ (EemE gHl UX F UHE §AT?
TGh UNUHEEY &N O WhH h1 A ISy doT ST quie ity |
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17 Distinguish between the following : 4
(1) Organ and tissue

(i) Protective and conducting tissues in plants.
frfafaa o %7 @R -
() o R Ham

(i) Wl ¥ @l oiR daw waw|

18 What is a mechanical wave ? Name the two types of mechanical waves. 4
How do they differ from each other ?

ity TET |1 P A TER B FiEE TEN B AW IA3A1 9 TH gAY § e
EEARERE: o K

19  Which mirror would you use to project an inverted and magnified image of a 4
candle on the wall of your room and why ? Where will you place the candle ?
Draw a ray diagram for the formation of the image.

MY MUY HAX Hl AER IX THh AW &l Il AR Eidd wiaies S &
o ®F-ar gdu wEeT A @ ? WS @l wEl @i ? yides a9 % T e
o s w9

20 What are allotropes ? Name any two allotropic forms of phosphorus ? 4
What happens when phosphorus reacts with :

(a) Concentrated nitric acid
(b) Caustic soda

Write chemical equations involved.

AUET FT T ? HIRBIE & el 3l AUEdl & AW [WRad| Ry ddr & WS
wrepRg Elaied & @ sl wxar ¥

(a) U= -Efew o
(b) wE® =T
95 EEe gHEe faiad |
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21 What are different categories of domesticated animals ? Write one example 4

of each category. How animals can help to make the soil fertile ?

g uggetl @ fafe=r Sfml a9 7 e 9ol &1 o Uw Samaw AN
Uyl 1 @ SEX SN H HH HEE WA o 7

22 What is a green house ? Which gases have converted earth's atmosphere into 4

a green house ? Explain how is it leading to global warming ?

M &g w1 &7 AT | A yel % aigHed @ We-wed ® uRafda @) fa
T? e @it 6 e TR yeR yEeaE 9| @ w1 o§ 7

23 What are gangue and flux ? Write the reactions involved between 4
(i) A basic gangue and
(i) An acidic gangue with suitable flux in each case.
AT R e R’ OE 7
() arlm e
(i) o A & Sfam e F WH TEE sAwimE faie

24  Which eclipse occurs on a full-moon day ? What is the cause of this eclipse ? 4

Explain with the help of a diagram.

R & T @F-| W El €7 39 WS W GROT @1 £ UH faN @l wErEdl
¥ W i |
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25

26

27

28

Draw a labelled diagram of human heart.

I % T B TH AMIRT AN IR |

Four resistors of resistance 10 ohm each are joined in series to form one
combination. Four such combinations are then connected in parallel.
Calculate the total resistance of there combinations.

g 10 3 & IR WiaAEl @l Soehd ¥ Sgh< Uk S99 9™l ™11 U9 9)
AT B G H | SISl T 39 SAEl B A AaUY THEmad i |

Write two important differences between communicable and non-communicable
diseases giving one example of each and write the cause of each disease.

% 1 Th-U%H SaTeXl od gd, €Wk SR IX-HHmE M & S &l Aeyol
3T AEA | U&® T Bl BRO AR |

Define :
(1) Oxidation

(i) Reduction and
(i) Redox reaction.

Write two examples of redox reactions and identify the oxidizing agent and the
reducing agent in each case.

() SuygEe
(i) oTgEs e
(i) =T orflehanet

B YR BN | St sifiiharenl & 3 Sl fWied oY yde ¥ SuaEe
AR AUUEH Dl TEA IS |

4
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29 What are the raw materials required by plants to synthesize their own food ? 6

Explain how different external factors influence the rate of the process involved.

e i AT o IWNT BT % WY HBiN-g hed Uil i SIa9Tehdl Bl 8 ¢
T9g 9har @l &X @l [ 9 BR& [ e G9Iad #id &, W RN |

30 (a) Explain the following : 6

(1) Cooking is easier in pressure cooker.

(i) A beam of white light splits into seven colours when passed through

a glass prism.
(b) Distinguish between nuclear fission and nuclear fusion.
() Frefafad & =men s
() UR FH ¥ W UHMT FEH BT ¥

(i) w9 939 WeoryT TRl ®ig & fow ¥ T W ¥ oA 98 ;@ N H

fage & wmar #)

(b) i g ofR A dead § 98 @il |
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